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1. ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé : 20 

 (a) ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û¾ÛÛ× ¾ÛÛ¶ÛÈÛ ÈÛ©ÛÙ̈ Ûäïõ ¸ÛÛÍÛÛ¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé.  

 (b) ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü …¶Ûé ½Û×¦øÛéÇ ¸ÛóÈÛÛÐü ¸ÛªÛïõ ÈÛ˜˜Ûé¶ÛÛé ©ÛºõÛÈÛ©Û ÍÛ¾Û›ÛÈÛÛé.  

 (c) ÜÐüÍÛÛ¼Ûà ¾ÛÛÜÐü©Ûà …¶Ûé Ü¶Û¨ÛÙýÛ ¸ÛóÜ’õýÛÛ¶Ûà ïõÛýÛÙÈÛÛÐüà ÍÛ¾Û›ÛÈÛÛé.  

 (d) ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …¶Ûé …Ü½Û¸ÛóéÁõ¨Û ÍÛ¾Û›ÛÈÛÛé.  
 

2. 31¾Ûà Ü¦øÍÛé¾¼ÛÁõ-2014¶ÛÛ ÁõÛé›÷¶Ûä× ÉÛä½ÛÅÛÛ½Û ÜÅÛ.¶Ûä× ¸ÛÛïäõ ÍÛÁõÈÛíéýÛä× ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 20 

›÷ÈÛÛ¼ÛþùÛÁõà…Ûé `̀̀̀ Ü¾ÛÅÛïõ©ÛÛé  `̀̀̀ 

ˆÜîÈÛ¤øà ÉÛéÁõ¾Ûæ¦øà 8,00,000 ¸ÛÛ–Û¦øà  1,20,000 

…¶ÛÛ¾Û©Û ÈÛµÛÛÁõÛé  7,24,000 »õà ÐüÛéÅ¦ø ¾ÛïõÛ¶ÛÛé  5,20,000 

ÅÛé̈ ÛþùÛÁõÛé 3,96,000 ºõà¤øá•Û ÍÛÛµÛ¶ÛÛé 4,00,000  

¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø  60,000 – –ÛÍÛÛÁõÛé 1,70,000 2,30,000 

  Í¤øÛéïõ  4,60,000 

  þéùÈÛÛþùÛÁõÛé  6,50,000 

 19,80,000   19,80,000 

 ï×õõ¸Û¶Ûà 2015 ¶ÛÛ ÈÛÌÛÙ¶Ûà ýÛÛé›÷¶ÛÛ…Ûé ¶Ûà˜Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé ¸ÛÁõ …ÛµÛÛÜÁõ©Û ™öé.  

 ºéõ¼Ûóä…ÛÁõà-2015¾ÛÛ× ` 10¶ÛÛé …éïõ …éÈÛÛ 20,000 ˆÜîÈÛ¤øà ÉÛéÁõ ÉÛéÁõþùà¥ø ` 5¶ÛÛ Ü¸ÛóÜ¾ÛýÛ¾Û¬Ûà ¼ÛÐüÛÁõ 
¸ÛÛ¦øÈÛÛ¾ÛÛ× …ÛÈÛÉÛé. ›Û¶ýÛä…ÛÁõà 2015¾ÛÛ× ` 1,40,000 ¶ÛÛ ¶ÛÈÛÛ ºõà¤øá•Û ÍÛÛµÛ¶ÛÛé ÁõÛéïõ¦éø¬Ûà ”ÛÁõàþùÈÛÛ¶ÛÛ 
™öé. ¸ÛÛ–Û¦øà ¸Ûíéïõà ` 60,000 ¾ÛÛ×¦øà ÈÛÛÇÈÛÛ¶ÛÛ ™öé. 2015¶ÛÛ ÈÛÌÛÙ¶Ûé …×©Ûé ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ ` 5,80,000 ¶ÛÛé 
ÁõÐéüÉÛé. 

 ¶Ûà˜Ûé¶ÛÛ ÈýÛÈÛÐüÛÁõÛé ÈÛÌÛÙ þùÁõÜ¾ÛýÛÛ¶Û …éïõ ÍÛÁõ”ÛÛ þùÁéõ ÁõÐéüÉÛé. ÈÛé̃ ÛÛ¨Û ` 48,00,000, ”ÛÁõàþùà            
` 37,20,000, ÍÛÛ¾ÛÛ¶ýÛ ”Û˜ÛÙ ` 7,20,000 …¶Ûé Ü¦øÁéõî¤øÁõ¶Ûä× ¾ÛÐéü¶Û©ÛÛ¨Ûä× ` 1,60,000. 

 þéùÈÛÛþùÛÁõÛé¶Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÉÛÛ”Û ¼Ûé ¾ÛÛÍÛ, ÅÛé̈ ÛþùÛÁõÛé ¸ÛÛÍÛé¬Ûà 1½ ¾ÛÛÍÛ¶Ûà ÉÛÛ”Û ¾ÛÇÉÛé.  

 –ÛÍÛÛÁõÛ ºõà¤øá•Û ÍÛÛµÛ¶ÛÛé ¸ÛÁõ 10% ÅÛé”Ûé –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà¶Ûà Áõà©Ûé •Û¨ÛÛé.  

 2015¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ½Û×¦øÛéÇ¶Ûà ¸ÛóÛÜ¸©Û …¶Ûé Š¸ÛýÛÛé•Û þùÉÛÛÙÈÛ©Ûä× ¸ÛªÛïõ ©ÛíéýÛÛÁõ ïõÁõÛé. 
…¬ÛÈÛÛ  
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2. ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¬Ûà ¶ÛàÉÛà©Û ÜÅÛ. ¶ÛÛ 31-3-2015¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 20 

 (1) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà  ` 90,000 

 (2) ˜ÛÛÅÛä •Ûä̈ ÛÛé«ÛÁõ  2.20 : 1 

 (3) ¸ÛóÈÛÛÜÐüïõ©ÛÛ •Ûä̈ ÛÛé«ÛÁõ  1.25 : 1 

 (4) Í¤øÛéïõ ˜ÛÅÛ¶ÛþùÁõ  6 ÈÛ”Û©Û  
   (ÉÛÄõ…Û©Û …¶Ûé …Û”ÛÁõ¶ÛÛ× Í¤øÛéïõ¶Ûà ÍÛÁéõÁõÛÉÛ¶ÛÛ …ÛµÛÛÁéõ) 
 (5) ïõÛ˜ÛÛ ¶ÛºõÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõõ  40% 

 (6) ïõÛýÛ¾Ûà Ü¾ÛÅÛïõ©ÛÛé …¶Ûé ¾ÛÛÜÅÛïõà¶ÛÛ ½Û×¦øÛéÇ  0.80 : 1 

 (7) þéùÈÛÛþùÛÁõ •Ûä̈ ÛÛé«ÛÁõ (360 ÜþùÈÛÍÛ)  45 ÜþùÈÛÍÛ 
 (8) ÉÛéÁõþùà¥ø ïõ¾ÛÛ¨Ûà  ` 4 

 (9) ÅÛé̈ ÛþùÛÁõ •Ûä̈ ÛÛé«ÛÁõ  72 ÜþùÈÛÍÛ 
 (10) ÈÛÌÛÙ¶Ûà …ÛÈÛïõ ÉÛéÁõ¾Ûæ¦øà ¸ÛÁõ ¤øïõÛ 40%  

 (11) ÍÛ×̃ ÛÛÅÛ¶Û •Ûä̈ ÛÛé«ÛÁõ  90% 

 (12) ÉÛéÁõ¶Ûà ÍÛ×”ýÛÛ  16250 

 ÉÛÄõ…Û©Û¶ÛÛé Í¤øÛéïõ …Û”ÛÁõ¶ÛÛ Í¤øÛéïõ ïõÁõ©ÛÛ× ` 12,500 …Ûé™öÛé ™öé. ”ÛÁõàþùà¾ÛÛ× ”ÛÁõàþù ¾ÛÛÅÛ •ÛÛ¦øÛ½ÛÛ¦äø      
` 27,500 ™öé. ¾ÛäÅÛ©ÈÛà ÁõÛ”ÛéÅÛ ”Û˜ÛÛÙ, …•ÛÛŠ¬Ûà ˜ÛæïõÈÛéÅÛ ”Û˜ÛÛÙ, ÅÛÛ×¼ÛÛ•ÛÛÇÛ¶Ûà ÅÛÛé¶Û ©Ûé¾Û›÷ …´ùÉýÛ 
Ü¾ÛÅÛïõ©ÛÛé ï×õ¸Û¶Ûà¶ÛÛ ˜ÛÛȩ́ Û¦éø ¶Û¬Ûà.  

 ©ÛÛ. 31-3-2015¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø¶Ûä× ÈÛȩ́ ÛÛÁõ ”ÛÛ©Ûä× …¶Ûé ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä× …¶Ûé ©Ûé ›÷ 
©ÛÛÁõà”Û¶Ûä× ¸ÛÛïäõ ÍÛÁõÈÛíéýÛä× ©ÛíéýÛÛÁõ ïõÁõÛé.  

 

3. •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé :  20 

 (a) ¾Ûæ¦øà ¸Û¦ø©ÛÁõ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. ¶ÛÛ¨ÛÛïõàýÛ ÍÛ×̃ ÛÛÅÛ¶Û¾ÛÛ× ©Ûé¶Ûä× ¾ÛÐü«ÈÛ ÍÛ¾Û›ÛÈÛÛé.  

 (b) ½ÛÛÜÁõ©Û ÍÛÁéõÁõÛÉÛ ¾Ûæ¦øà ¸Û¦ø©ÛÁõ …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà •Û¨Û©ÛÁõà ïéõÈÛà Áõà©Ûé ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

 (c) ÉÛæ¶ýÛ …ÛµÛÛÜÁõ©Û …×þùÛ›÷¸ÛªÛ¶ÛÛé ”ýÛÛÅÛ …Û¸ÛÛé. ©Ûé¶ÛÛ ºõÛýÛþùÛ …¶Ûé •ÛéÁõºõÛýÛþùÛ ÍÛ¾Û›ÛÈÛÛé.  
…¬ÛÈÛÛ  

3. …ÉÛÛéïõ ÜÅÛ.¾ÛÛ× ›÷é ïõÛ¾Û ¾Û›æ÷ÁõÛé ³ùÛÁõÛ ¬ÛÛýÛ ™öé ©Ûé ïõÛ¾Û ¸ÅÛÛ¶¤ø ³ùÛÁõÛ ïõÁõÛÈÛÈÛÛ ¾ÛÛ×•Ûé ™öé. ©Ûé …×•Ûé ¼Ûé 
ÜÈÛïõÅ¸ÛÛé Š¸ÛÅÛ¼µÛ ¸ÅÛÛ¶¤ø ‘“Û’ …¶Ûé ¸ÅÛÛ¶¤ø ‘ýÛ’ ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà ¶ÛºõÛïõÛÁõïõ©ÛÛ¶Ûä× ¸ÛªÛïõ 
¼Û¶ÛÛÈÛÈÛÛ¶Ûä× ™öé …¶Ûé ¼Û×¶Ûé ¸ÅÛÛ¶¤ø …×•Ûé ÁõÛéïõÛ¨Û ¸ÛÁõ©Û ¾Ûäþù©Û •Û¨Ûà ¼Û©ÛÛÈÛÈÛÛ¶Ûä× ™öé : 20 

 ¸ÅÛÛ¶¤ø ¸ÅÛÛ¶¤ø 

 ““Û” “ýÛ” 

¸ÅÛÛ¶¤ø¶Ûä× …×þùÛœ÷©Û …ÛýÛäÌýÛ 5 ÈÛÌÛÙ 5 ÈÛÌÛÙ 
 ` ` 

¸ÅÛÛ¶¤ø¶Ûà Ýïõ¾Û©Û 9,00,000 15,00,000 

¸ÛÁõÛé“Û ¾ÛÛÅÛ ÍÛÛ¾Û•Ûóà ”Û˜ÛÙ  36,000 48,000 

…×þùÛ›÷éÅÛ ¼Û•ÛÛ¦ø¾ÛÛ× ¼Û˜Û©Û 60,000 90,000 

ÈÛµÛÛÁõÛ¶ÛÛé Ü¶Û½ÛÛÈÛ ”Û˜ÛÙ    1,14,000   1,62,000 

…×þùÛ›÷éÅÛ ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà¾ÛÛ× ¼Û˜Û©Û – – 

Ü¼Û¶Û›÷ÄõÁõà ïõÛ¾ÛþùÛÁõÛé¶Ûà ÍÛ×”ýÛÛ  900 1,200 

ïõõ¾ÛÙ̃ ÛÛÁõà þùà¥ø ¾Û›æ÷Áõà 600 600 

 ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 50% •Û¨ÛÛé. ïõÁõÈÛéÁõÛ¶Ûà •Û¨Û©ÛÁõà ¾ÛÛ¤éø –ÛÍÛÛÁõÛé …ÈÛ•Û¨ÛÛé. ©Û¾Ûé ïõýÛÛ ¸ÅÛÛ¶¤ø¶Ûà ½ÛÅÛÛ¾Û¨Û 
ïõÁõÉÛÛé ? 
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4. ¸ÛÁõà ïõÛȩ́ ÛÛëÁéõÉÛ¶Û 100% ¶Ûà ïõÛýÛÙ“Û¾Û©ÛÛ…é 12,000 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. ÜÐüÍÛÛ¼Ûà ˜ÛÛȩ́ Û¦øÛ…Ûé 
¸ÛÁõ¬Ûà ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¾ÛéÇÈÛÈÛÛ¾ÛÛ× …ÛÈÛà ™öé : 20 

Š©¸ÛÛþù¶Û 
8400 …éïõ¾ÛÛé 

`̀̀̀ 

10800 …éïõ¾ÛÛé 

`̀̀̀ 

¾ÛÁõÛ¾Û©Û ›ÛÇÈÛ¨Ûà 15,000 16,800 

¸Û•ÛÛÁõ 30,000 30,000 

¸ÛÛÈÛÁõ 54,000 60,000 

©Û¸ÛÛÍÛ 6,000 7,200 

Š©¸ÛÛþù¶Û ÉÛÛ”ÛÛ¶Ûà ¾Û›æ÷Áõà 21,000 27,000 

–ÛÍÛÛÁõÛé 42,000 42,000 

ÈÛ¸ÛÁõÛÉÛà Í¤øÛéÍÛÙ 42,000 54,000 

 Š©¸ÛÛþù¶Û¶ÛÛé þùÁõ ¸Ûó©ýÛéïõ ïõÅÛÛïéõ 10 …éïõ¾ÛÛé ™öé. ¸Ûó©ýÛ“Û ¾ÛÛÅÛ ÍÛÛ¾Û•Ûóà¶Ûà ¸Û¦ø©ÛÁõ …éïõ¾Ûþùà¥ø ` 10 ™öé. 
¸Ûó©ýÛ“Û ¾Û›æ÷Áõà þùÁõ ïõÅÛÛïéõ ` 40 ™öé.  

 Š¸ÛÁõ¶Ûà ¾ÛÛÜÐü©Ûà¶ÛÛ …ÛµÛÛÁéõ 100%, 80% …¶Ûé 60% ¶Ûà ïõÛýÛÙ“Û¾Û©ÛÛ…é ¸ÛÜÁõÈÛ©ÛÙ¶ÛÉÛàÅÛ …×þùÛ›÷¸ÛªÛ 
©ÛíéýÛÛÁõ ïõÁõÛé.  

…¬ÛÈÛÛ 

4. •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé :  20 

 (1) …Û×©ÛÜÁõïõ ÈÛÇ©ÛÁõ þùÁõ¶Ûà ¸Û±ùÜ©Û  

 (2) ¾Ûæ¦øà ÁõÛéïõÛ¨Û ¸ÛÁõ¶ÛÛ ÈÛÇ©ÛÁõ¶Ûà •Û¨Û©ÛÁõà¾ÛÛ× ¾Ûæ¦øà …¶Ûé ¶ÛºõÛ¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛÛé.  

 (3) ¾Ûæ¦øà ¸Û¦ø©ÛÁõ¶Ûä× ¾ÛÐü«ÈÛ 
 

5. …éïõ ï×õ¸Û¶Ûà¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ™öé : 20 

ÜÈÛ•Û©Û 
…éïõ¾Ûþùà¥ø 

`̀̀̀ 

ïõÛ˜ÛÛé ¾ÛÛÅÛ 105 

¸Ûó©ýÛ“Û ¾Û›æ÷Áõà 42 

¸ÛÁõÛé“Û ”Û˜ÛÛÙ  63 

 ïäõÅÛ ¸Û¦ø©ÛÁõ 210 

 ¶ÛºõÛé 70 

 ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û 280 

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 

 (1) …×þùÛ›÷éÅÛ Š©¸ÛÛþù¶Û¶ÛÛ ÈÛÛÜÌÛÙïõ …éïõ¾ÛÛé 67,200. 

 (2) ïõÛ˜ÛÛé ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ …éïõ ¾ÛÛÍÛ Í¤øÛéïõ¾ÛÛ× ÁõÐéüÉÛé.  
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 (3) ïõÛ˜ÛÛé ¾ÛÛÅÛ¶ÛÛé ÍÛÁéõÁõÛÉÛ Í¤øÛéïõ …µÛÛÙ ¾ÛÛÍÛ ¾ÛÛ¤éø ¸ÛóÜ’õýÛÛ¾ÛÛ× ÁõÐéü ™öé.  

 (4) ©ÛíéýÛÛÁõ ¾ÛÛÅÛ¶ÛÛé Í¤øÛéïõ ÍÛÁéõÁõÛÉÛ …éïõ ¾ÛÛÍÛ ¾ÛÛ¤éø Í¤øÛéïõ¾ÛÛ× ÁõÐéü ™öé.  

 (5) Š©¸ÛÛþù¶Û¶ÛÛé 20% ½ÛÛ•Û ÁõÛéïõ¦éø¬Ûà ÈÛé̃ ÛÛýÛ ™öé.  

 (6) þéùÈÛÛþùÛÁõÛé¶Ûé …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÉÛÛ”Û-1 ¾ÛÛÍÛ  

 (7) ÈÛȩ́ ÛÛÁõà…Ûé ¸ÛÛÍÛé¬Ûà …éïõ ¾ÛÛÍÛ¶Ûà ÉÛÛ”Û ¾ÛÇé ™öé.  

 (8) 10% ½ÛÛ•Û¶ÛÛé ïõÛ˜ÛÛé ¾ÛÛÅÛ ÁõÛéïõ¦éø¬Ûà ”ÛÁõàþùÛýÛ ™öé.  

 (9) ¸Ûó©ýÛ“Û ¾Û›æ÷Áõà¶ÛÛé ˜ÛæïõÈÛÈÛÛ¶ÛÛé •ÛÛÇÛé - …éïõ …¥øÈÛÛÜ¦øýÛä×  

 (10) ¸ÛÁõÛé“Û ”Û˜ÛÛÙ ˜ÛæïõÈÛÈÛÛ¶ÛÛé •ÛÛÇÛé - ¼Ûé …¥øÈÛÛÜ¦øýÛÛ  

 (11) ï×õ¸Û¶Ûà ÁõÛéïõ¦ø ÐüÛ¬Û ` 52,500 ÁõÛ”ÛÈÛÛ¶Ûä× ¾ÛÛ¶Ûé ™öé ›÷é ¾ÛÛ¤éø ` 17,500 ¶ÛÛé ¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø¶ÛÛé 
ÍÛ¾ÛÛÈÛéÉÛ ¬ÛÛýÛ ™öé ›÷é ¼Ûêïõ …ÛéÈÛÁõ¦ÖøÛ¹¤ø Ðü›ä÷ ÍÛäµÛà Š¸ÛýÛÛé•Û¾ÛÛ× ÅÛéÈÛÛýÛéÅÛ ¶Û¬Ûà. Š©¸ÛÛþù¶Û …¶Ûé 
ÈÛé̃ ÛÛ¨Û …éïõ ÍÛÁõ”Ûà Áõà©Ûé ¬ÛÛýÛ ™öé ÈÛÌÛÙ¶ÛÛ 48 …¥øÈÛÛÜ¦øýÛÛ •Û¨ÛÈÛÛ¶ÛÛ ™öé …éïõ ¾ÛÛÍÛ¶ÛÛ ˜ÛÛÁõ 
…¥øÈÛÛÜ¦øýÛÛ •Û¨ÛÛé.  

 ˜ÛÛé””Ûà ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà ÉÛÛéµÛÛé.  

  …¬ÛÈÛÛ  

5. •Û¾Ûé ©Ûé ¼Ûé ÅÛ”ÛÛé :  20 

 (1) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶ÛÛ ¸ÛóÛÜ¸©ÛÍ¬ÛÛ¶ÛÛé 

 (2) ïõÛýÛÙÉÛàÅÛ ¾Ûæ¦øà¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé  

 (3) ÈÛ¤øÛÈÛéÅÛ ÁõÛéïõ¦ø ¸ÛóÈÛÛÐü ¸Û±ùÜ©Û  
 

____________ 
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1. Answer any two : 20 

 (a) State the importance of the Human Behaviour Aspects in the Management 

Accounting. 

 (b) Explain the difference between cash Flow statement and Fund Flow Statement. 

 (c) Accounting data and decision making process. 

 (d) Accounting System and Motivation. 

 

2. Balance Sheet of Shubhlabh Ltd. as on 31
st
 December, 2014 is as under : 20 

Liabilities `̀̀̀ Assets  `̀̀̀ 

Equity Share Capital 8,00,000 Goodwill  1,20,000 

Reserve and Surplus 7,24,000 Free hold building  5,20,000 

Creditor 3,96,000 Fitting Instrument 4,00,000  

Bank Overdraft 60,000 – Depreciation 1,70,000 2,30,000 

  Stock  4,60,000 

  Debtors  6,50,000 

 19,80,000   19,80,000 

 Company has projects for the year 2015 on the following assumption. 

 In the Feb-2015 20,000 Equity shares of ` 10 each will be issued at a premium of ` 5 

per share. New fitting instruments worth ` 1,40,000 purchased for cash. Write off 

goodwill for ` 60,000. Stock of ` 5,80,000 at the end of the year 2015. 

 Following are the transaction during the year. 

 Sales ` 48,00,000, Purchase ` 37,20,000, General Expenses ` 7,20,000 and Directors 

remuneration ` 1,60,000. 

 Credit allowed to debtors 2 months. Credit allowed by creditor 1½ months. Provide 

depreciation on fitting at the rate of 10% by reducing balance method. 

 Prepare Fund flow statement for the year 2015. 

OR 
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2. Following information of Nishit Ltd. are taken for the year ended as on 31-3-2015. 20 

 (1) Working Capital  ` 90,000 

 (2) Current Ratio  2.20 : 1 

 (3) Liquidity Ratio  1.25 : 1 

 (4) Stock turn over  

   (Average of opening and closing stock)  6 times.  

 (5) Gross Profit Ratio  40% 

 (6) Fixed Assets to share holder’s Equity  0.80 : 1 

 (7) Debtor’s Ratio (360 Days)  45 days 

 (8) Earning per share  ` 4 

 (9) Creditor’s Ratio  72 days 

 (10) Earning for the year as a percentage on share capital 40% 

 (11) Operating Ratio  90% 

 (12) Number of Equity share  16250 

 The opening stock was less by ` 12,500 than closing stock. Purchase includes ` 27,500 

for carriage inward. 

 There are no differed expenses,  prepaid expenses, long term liabilities and intangible 

assets in the books of accounts. 

 Prepare Trading and Profit and Loss Account for the year ended on 31-3-2015 and 

Balance Sheet as on that date. 
 

3. Write any two :  20 

 (a) Define cost of capital. Explain its importance in Financial Management. 

 (b) What is the weighted average cost of capital ? How it is calculated ? 

 (c) Explain the concept of Zero-base Budgeting. Explain its advantages and 

limitation. 

OR 

3. Ashok Ltd. is considering the purchase of new machine which will carry out operation 

so far performed by labour. There are two alternative presented plant ‘X’ and plant ‘Y’. 

From the following information you are required to prepare a profitability statement 

and work out the pay back period for each plant : 20 

 Plant Plant 

 “X” “Y” 

Estimated Life of Plant 5 years 5 Years 

 ` ` 

Cost of Plant 9,00,000 15,00,000 

Cost of Indirect Material 36,000 48,000 

Estimated saving in scrap 60,000 90,000 

Additional maintenance cost    1,14,000   1,62,000 

estimated saving in Direct wages – – 

No. of employees not required 900 1,200 

Wages per Employee 600 600 

 Taxation rate is to be taken at 50%. Ignore depreciation for the purpose of calculating 

tax. Which plant would you recommend ? 
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4. Pari Corporation produces 12,000 units at 100% capacity. The following information is 

obtained from the books of account : 20 

Production 
8400 Units 

`̀̀̀ 

10800 Units 

`̀̀̀ 

Repairs and Maintenance 15,000 16,800 

Salary 30,000 30,000 

Power 54,000 60,000 

Inspection 6,000 7,200 

Shop Labour 21,000 27,000 

Depreciation 42,000 42,000 

Consumable Stores 42,000 54,000 

 The rate of production per hour is 10 units. Cost of direct material is ` 10 per unit and 

direct wages per hours is ` 40. 

 From the above information prepare a Flexible Budget at 100%, 80% and 60% capacity. 

OR 

4. Write any two :  20 

 (1) Internal Rate of Return method. 

 (2) Explain the meaning of capital and profit for purpose of determining the return of 

capital employed. 

 (3) Significance of the cost of capital. 

 

5. The following are the particulars of a Co. 20 

Particular 
Per Unit 

`̀̀̀ 

Raw Material 105 

Direct Wages 42 

Overhead expenses 63 

 Total Cost 210 

 Profit 70 

 Selling Cost 280 

 Additional Information : 

 (1) Estimated output is 67,200 units yearly. 

 (2) Raw materials are in stock on an average for 1 month. 

 (3) Raw materials are in process on an average for 1/2 month. 

 (4) Finished goods are in stock on an average for 1 month.  
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 (5) 20% of the production is sold against cash. 

 (6) Credit given to debtor for 1 month. 

 (7) Credit allowed by suppliers is 1 month. 

 (8) 10% of the raw material is purchased against cash. 

 (9) Lag on payment of wages – 1 week. 

 (10) Lag on payment of overhead expenses 2 weeks. 

 (11) Company wishes to keep ` 52,500 cash on hand which includes ` 17,500 Bank 

overdraft which is still not utilized. 

 Assume that Sales and production follow consistent pattern. Consider 48 weeks for a 

year and 4 weeks for a month. 

 Find out Net Working Capital. 

  OR 

5. Write any two :  20 

 (1) Sources of working capital. 

 (2) Factors affecting working capital. 

 (3) Discounted cash flow method. 

 

__________ 


